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Question: 1.

Which command on an EX Series switch allows for the configuration of the duplex setting on multiple
interfaces at the same time?

A. interface-range
B. apply-path
C. interface-group
D. port-range

Answer: A

Question: 2.

Which BGP configuration option is required when peering with an IBGP neighbor using loopback
addresses?

A. local-address

B. local-interface
C. update-source
D. source-address

Answer: A

Question: 3.

When does a root-protected port transition back to the forwarding state?

A. It does not transition back.

B. It transitions after 20 seconds.

C. It transitions when cleared by the operator.

D. It transitions when superior BPDUs are no longer received.

Answer: D

Question: 4.

An ABR is connected to an NSSA, but it also functions as an ASBR.
Which configuration disables the exporting of Type 7 LSAs into the connected NSSA?

A. no-type7

B. nssa

C. area-range
D. no-nssa-abr
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Answer: D

Question: 5.

Under which hierarchy do you configure BGP neighbors?

A. *[edit protocols bgp]*
B. *[edit interfaces]*

C. *[edit routing-options]*
D. *[edit policy-options]*

Answer: B

Question: 6.

Which two statements are true regarding an RVI? (Choose two.)

A. An RVI must be in an EX Series switch to enable routing between VLAN segments.

B. An RVI does not require an IP address.

C. An RVl is a Layer 3 logical interface.

D. An RVI cannot coexist in an interface configuration if the switch performs Layer 2 operations.

Answer: AC

Question: 7.

BGP is best described as what type of routing protocol?

A. link state

B. distance vector
C. path state

D. path vector

Answer: D

Question: 8.

Which configuration provides connectivity from the test routing instance to the 192.168.3.0/24
subnetin inet.0?

A. routing-options {
static {
rib-group master2test.inet.0;
route 192.168.3.0/24 next-hop 10.0.0.2;

}
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rib-groups {
master2test.inet.O {
import-rib [ inet.0 test.inet.0 ];
import-policy onlyStatic;
}
}
}
policy-options {
policy-statement onlyStatic {
term 1 {
from protocol static;
then accept;
}
term 2 {
then reject;
}
}
}

routing-instances {
test {
instance-type forwarding;
interface ge-0/0/0.500;
}
}
B. routing-options {
static {
route 192.168.3.0/24 next-hop 10.0.0.2;
}
rib-groups {
master2test.inet.O {
export-rib inet.0;
import-rib [ inet.0 test.inet.0];
import-policy onlyStatic;
}
}
}
policy-options {
policy-statement onlyStatic {
term 1 {
from protocol static;
then accept;
}
term 2 {
then reject;
}
}
}

routing-instances {
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test {
instance-type forwarding;
interface ge-0/0/0.500;
}
}
C. routing-options {
static {
route 192.168.3.0/24 next-hop 10.0.0.2;
}
}
policy-options {
policy-statement onlyStatic {
term 1 {
from {
instance master;
protocol static;

}

then accept;
}
term 2 {

then reject;

}
}
}

routing-instances {
test {
instance-type forwarding;
interface ge-0/0/0.500;
routing-options {
instance-import onlyStatic;
}
}
}
D. routing-options {
static {
route 192.168.3.0/24 next-table test.inet.0;
}
}

routing-instances {
test {
instance-type forwarding;
interface ge-0/0/0.500;
}

Question: 9.
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Which of the following can be used for both security and loop prevention?

A. firewall filters

B. DHCP snooping

C. dynamic ARP inspection
D. MAC move limiting

Answer: D

Question: 10.

Which two of the following are contained in an OSPF hello packet? (Choose two.)

A. hello interval

B. dead interval

C. ex-start

D. link-state update

Answer: AB

Question: 11.

What are three states for RSTP? (Choose three.)

A. discarding
B. blocking
C. listening
D. learning
E. forwarding

Answer: ADE

Question: 12.

What are two mandatory BGP attributes? (Choose two.)

A. route preference
B. origin

C. AS path

D. originator

Answer: BC

Question: 13.
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Which configuration summarizes external routes in the 172.16.0.0/22 range into a single prefix on an
ABR for Area 1?

A. protocols {
ospf {
area 0.0.0.1 {
nssa {
default-lsa {
default-metric 1;
metric-type 1;
}
}
area-range 172.16.0.0/22;
}
}
}

B. protocols {
ospf {
area 0.0.0.1 {
nssa {
area-range 172.16.0.0/22;
}
}
}
}

C. protocols {
ospf {
area 0.0.0.1 {
stub summaries;
}
}
}

D. protocols {
ospf {
area 0.0.0.1 {
nssa;
area-range 172.16.0.0/22 restrict;
}
}
}

Answer: B

Question: 14.

Which two fields in an OSPF hello packet must match before OSPF neighbors can form an adjacency?
(Choose two.)
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A. dead interval
B. neighbor

C. options

D. router priority

Answer: AC

Question: 15.

When processing inbound Ethernet frames, which firewall filter is evaluated first by an EX Series
switch?

A. port filter

B. VLAN filter
C. trunk filter
D. route filter

Answer: A
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